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� %�.�B+��.  w%0w%��0  0.38  � %�.�B+��.  "2����  1.01  � %�.�B+��. 
   ����!� ��:&!�.  :  ��"��&%�%$%�� =�"-�$
%�-��0���.���>���!���0��-���
"2���+��%
:
  ����(%  !��
  0���. ̂�  !$%�%�������!�2��3������ 
    ����?-������0�����
 

   1. ���2�)��
���
�0�)���0�%    ( Knife ) 
   2. �-�+�"-��0��-�������
%3������   ( Pointed Iron ) 
   3. �%��%
�
     ( Tong Kong flower ) 
   4. ����-��& -�(% ����3��      ( Wood Holder ) 
   5. -��&�0�� -�(% 8��0����0��      ( Rattan ) 

   ��	���� 
   1.  ���%�-@��%%�9�������� 2�)��%-��& ( Cut Tongkong flower from the 
stalk. ) 
   2.   ������-��&�-�� =��� ����� �-��9���
0��-���������-��&�0�� 2�)��%
-��&    ( Cut rattan holder into arrow and sharpen. ) 
   3.   ������-��&&�� ����� 10 B.�   2�)��%-��&  (Cut 10 cms. rattan 
holder.  ) 
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   4.  ��� ���-��&�0��2�)�� �����"������)�1��0��3 ��()%& u� =�����-��2$�3�$���)&��� 
3�� 10 ���   2�)��%-��&    (  Tie rattan at the arrow and plait it. )                                      
   5.  �!��(%2��
0%
����� :
�
� =�3������"���0���$%3 9��0�+9  2�)��%-��& ( Use 
your hand bend by force the broom until finish. )                                                                                          
   6.  �!���� ���v(%�2�)
%3������ ���&��$� ����
%3������  :�&�!��-�+�"-��!$�&
9��0�+9  2�)��%-��&    (  Use a knife cut the broom. ) 
   ���1��������
&�������0�����
� "�" !��"@&���	� 

   ����!�3������2�)1����%
 
   1.  9��3������2�)�����%
3������  �-����� ��&3������2�)
%����!��%%�9�����
�%
������&� 
   2.  �!� ��&3����������2�)���%��%
�
����8(��9��2�)0�
�
2�)�)����$�  �!$�9��
!������
!����$�
   9���#�-�%
%%���2�) ����   
   3.  3�$������3������"�
����3    
   4.  3�$����8(��"���-��)&
3������9�2���-�]#^�w#�
���9�&���&�)
����9�����3��
3�$0�%��    
   5.  3�$��� ��&3����������2�)���%��%
�
���0�)
2�)�������3 ����-���  9�2��
�-� ��&3������"&�%%�9������ =�0%
"v�   ����2���-�����8(��3��3�$0�%�� 
   6.  ��()%�����&����%
������3��"����!�2�)����&������3�$
���!�3������0%

%���� �������"���-����&��
1�
�&��8���9�2���-�3�������0�&�� 2�
 
   ���
&�������0�����
� "�" 
   1.  ��()%�!�3�������0�+9"��� �-��������3������2�)��2�)"������%&�$2�)�������3 
"���3��2�)��+�3������-��&�
3�$���-�������&�����!(%�-�(%���&  -�(%w�
��������3���8()%0������
�����+����	� 
   2.  3�$��+�3������:�&��� ��&2�)���%��%
�
���
�����8���9�2���-�]#^���%%
  
-�(%�!(�%:�
3-��
��0�$����3������  ��()%���9�������!�%��9�2���-���0�)
0� �����2�)�(%�%
��� 
   3.  3�$��+�3������:�&��������%
3������3���������8���9�2���-� ��&3��
����
%����� 2�
2���-� ��0�2>�6�8����������-�0�%�����
 
   4.  -��������&��!�3������%&$�
1����%
������&��+9���3������2�)"�+
"�
2�2��  
0����1�!�3�����2��
���0�%��3��%&$�
�� ��0�2>�6�8  "��3���!�3������%&$�

#��
$�  � =����
 ��-&��"��%�#���	.2��8&���>���!���3�����& 
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 2.  %�+����  ���� (Design)  
  2.1  ���,�
���@����*"�- 
   ������-�����1# ��0

.�%
�2���&� 
��������	�
��
���3�����	���(�%-�9��
�����
����9�& �%�0��2�)���)&���%
 "�����-�� ��&2�
�%
�2���&� ��
����&���%�&���
��� 
   2.1.1   ������3�������%
�
 
    1.  ������&�0����1�%
 ������
���� =����%
3�������%
�
3�� 
   2.1.2  ����%
�
 

1.  ������&���
������
��������9���)&��������%
�
 
2.  ������&�0����1����%��%
�
3 �!� ��:&!�.3��%&$�

#��
$� 

   2.1.3  %# ���."����>��������3�������%
�
 
1.  ������&���
������
��������91�
-�������������3�������%
�
3��
%&$�
1����%
 
2.  ������&����-�������������3�������%
�
���!����������3������
�%
�
3��%&$�
1����%
 

   2.1.4  ��>�����!�
��"�������"����	�3�������%
�
 
1. ������&������"�������9-������ ��>�����!�"�������"����	�3�������%


�
%&$�
1����%
 
 
�?�'&�������������0
����,�
���@����*"�-
��".D������ 
�"����!��
 �!

�"��+ 
 
����" 1  �*
"��!��
 �!
% "���@����*"�-
��".D������ 
 

���
����� ,��%� 
�#� " ���@����*"�-
��".D������ 

1. -�$�&2�) 1  ������
���� =����%
 
               3�������%
�
 

1.  ���"�������9 ������
���� =����%
3��
�����%
�
 
2.  9���9
�����()%
 ������3�������%
�
 
3   �����()%
��$�
��� ������3�������%
�
 
4.  �-�
����$���(%����� d�������9����
��#$� 
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���
����� ,��%� 
�#� " ���@����*"�-
��".D������ 

2. -�$�&2�) 2  ����%
�
 
  

 

5.  %>���&:
�
0���
�%
�%��%
�
 
6.  %>���&���0(�8��>#.�%
�%��%
�
 
7.  %>���&��>�����&�&8��>#.�%��%
�
���&
��>�����$�
 u  �!$�  b�!�� �%���)
 ����� 
2����)
 
8.  �������%��%
�
3 �!� ��:&!�.%&$�


#��
$� 

3 -�$�&2�) 3  %# ���."����>��������3������
�%
�
 
    

9.  ���"�������9�����%��������3�������%

�
  
10.  ������&����-������2��3�������%
�
��
�!������2��3�������%
�
3��%&$�
1����>�
"����
#�6�8  
11.   d�����
����#$�3��%&$�
��
���0#�  
12.  �-+�
#�
$�"��!()�!�����
���%

��#$�  

4 -�$�&2�) 4  ��>�����!�
��"�������"����	�3��
�����%
�
 
 

13.  ���"�������9-������ ��>�����!�"�����
��"����	�3�������%
�
 
14.  ��
��������()%
������&����&

�����()%

 ��:&!�."��
#�
$��%
3�������%
�
 

 
 ��()%���-�����1# ��0

.�-�0%�
��%
�����(�%-�"���3�����
���-.���1# ��0

.�8()%���-��
"��2�
�����0���
��%0%� ��
����
���
���-.���1# ��0

.��
�$%3 ��� 
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����" 2 ����"��
����,-���@����*"�-����������".D������ 
 

���@����*"�-��� 

������

���9�� 


���
�����9 

���3  �!� ���
���-. 
 �� 
����
$� 

1.  ������&�0����1�%
 ������
���� =����%

3�������%
�
3�� 

1 3  2  

2.  ������&���
������
��������9���)&��������%

�
 

1 1    

3.  ������&�0����1����%��%
�
3 �!� ��:&!�.
3��%&$�

#��
$� 

  1 1 1 

4.  ������&���
������
��������91�
-���������
����3�������%
�
3��%&$�
1����%
 

1 1    

5.  ������&����-�������������3�������%
�

���!����������3�������%
�
3��%&$�
1����%
 

  3  1 

6.  ������&���
������"�������9-������ ��>�����!�
"�������"����	�3�������%
�
%&$�
1����%
 

 1 1  1 

 
 
����" 3 ����"��
����,-���@����*"�-����������".D������E�������!%�  
 

���@����*"�-��� 

������

���9�� 


���
�����9 

���3  �!� ���
���-. 
 �� 
����
$� 

1.  ������&�0����1�%
 ������
���� =����%

3�������%
�
3�� 

1 1,2,3  2,3  

2.  ������&���
������
��������9���)&��������%
�
 5 5    
3.  ������&�0����1����%��%
�
3 �!� ��:&!�.
3��%&$�

#��
$�   7 7 8 

4.  ������&���
������
��������91�
-���������
����3�������%
�
3��%&$�
1����%
 9 9    
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���@����*"�-��� 

������

���9�� 


���
�����9 

���3  �!� ���
���-. 
 �� 
����
$� 

5.  ������&����-�������������3�������%
�

���!����������3�������%
�
3��%&$�
1����%
 

  4,10,11  12 

6.  ������&���
������"�������9-������ ��>�����!�
"�������"����	�3�������%
�
%&$�
1����%
 

 13 13  14 

 
 
  2.2  ���  �����
* ��� �
��!����,��"
��!� 
   
��������	�
��
���3�����	���>����0���
"��2�0%� :�&�����(�%-�"��
���	��"��2�0%�2�
������&���%%�"��"��2�0%��$%�"��-��
���&� ��()%
3�������%
�
 
B�)
�� 4 -�$�& �����	��"����(%��%� 4 �����(%� :�&%%�"��2�0%�2�
������&��-�

�%�
�#���(�%-� "��0%�
��%
������1# ��0

. 
  2.3    �������
��� ���0���
"�� ������!#���9����:�&�!�
%�8����%�.
0���0�#�������&������()%
3�������%
�
 0��-���������&�!��� ��1����	� 42�) 6 
��������	�
��
���
�������������������������
��� 
   �����%�2�) 1  ���	����0���
"�� �������� 9��-��
0(% �����9�&��(�%
����%

�#@!�  ���0�%��  (2532 : 74-78) ; 3��
����0 (Michaelis. 1985 : 460-465)  
   �����%�2�) 2  ���	�"�� ������!#���9���� �%
 ��8t��  ��	t2>�f (2534) ; 
%#��  ��0��
 (2532) ; 0#89�.  "0
�
�� (2529) ; !#�8�  ����
#� (2535) ; 0�����&
  ����8��>. 
(2534) ;  
   �����%�2�) 3  0���
"�� ������!#���9�����-�
�%�
�#�%

. ���%��%
!#�
��9����B�)
��2��
-�� 5 ���� 
(% 
��!��"9
0��-���������&� 
�$�(%
�� ����"�����9��������&���� ����
0()%������&���� ������"�� �������� "�� ������!#���9����� =�"������0$�� �����
$� 
(Rating Scale) �����>��%
���
%�.2 (Likert) B�)
�� 5 ����� 
(% �-���0����2�)0#� �-���0���� 
�-���0� �����
 �-���0���%& �-���0���%&2�)0#� (Beat. 1970 : 181) 
   �����%�2�) 4 ���"�� ������!#���9����2�)0���
���� ���3 �-�%�9��&.2�) ���	�
���9 �8()% ��� �#
�-��-���0��$%����3 �!�9��
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   �����%�2�) 5 8��8."�� ������!#���9����2�)���90%�"��3���%��8�$%
2�)
���&���%&"��� 
   �����%�2�) 6 ���-�����_.������0�� ������
#�
$�!#���9����������_.�%

����!�)&�!�@��
��� (Beat. 1970 : 184) 


�"���v��)& 1.00-1.49  -��&
����$�   �-���0���%&2�)0#� 

�"���v��)& 1.50-2.49  -��&
����$�   �-���0���%& 

�"���v��)& 2.50-3.49  -��&
����$�   �-���0� �����
 

�"���v��)& 3.50-4.49  -��&
����$�  �-���0���� 

�"���v��)& 4.50-5.00  -��&
����$�   �-���0����2�)0#� 

   �������!�
$�
���0��
�@�-���0���� 
(% 
$��v��)& 3.50-5.00 � =����_.
���0���$� ����!�)&�!�@��
���8�
8%�9"���-+��$�!#���9������
����-���0� 0����1���3 
2��%
0%�-� ��0�2>�6�8�����#$����%&$�
3�� 
  2.4    ������
��E����<
!1��� �.��
� �-*���*������
��!��&�
�#� "0��
���
� "�" *��,������
��!���+����@�������F��� 6 
   �������%����
��������	�
��
���3�����	��� "��"���2
��
���������0�%
��(�%-���()%
3�������%
�
 �!�����0��0��9#��#$
-��& ��(�%-� ��9�����%
���0%� ��9�����%

������&� ��0�#���0%� 0()%���0%� �8()%�-�����#9#��#$
-��& :�&"�$
-�$�&������&����%%�� =�  4 
-�$�&������&� ���2�)���
���-.3��3��%���&���%%�"�� ����������&����0%� :�&���
%&�$��
8(��;�� �-�#����.���0%� (Events of Instruction) �%
���&$ � =�0��
�@ ���%�3 ���& 
   1. ��$
����
���0��9 (Gain Attention) �$%�2�)9����)��������0�%��(�%-��2���&� 
�����9�
�9"����$
����
���0��9�-�������&�%&�����&� ��
����!#���9����9�
���)����&����!�6�8 "0
 
0� �0�&
 -�(%�!�0()% ���%����-��&u %&$�
 :�&0()%2�)0���
������������%
���)&���%
�����(�%-�"��
�$�0��9 B�)
9�����:�&��
�$%
���0��9�%
������&� �%�9����$
����
���0��9"��� &�
� =����
����&�
���8��%��-�������&�8��%�2�)9����	���(�%-� 

   2. �%����1# ��0

. (Specify Objective) ���1# ��0

.�%
�2���&� ����$�� =�
0$��0��
�@&�)
�$%������������&���� 2�)������&�9�3��2���1�

���
��-��
�%
�2���&�9��������&� 
�%�9��������&�9�2���1�
8t����������0#�2��&�%
���%
-��
9��2���&�"��� 9�&�
� =����"9�

�-�2����$�
-���1�
 ����+�0��
�@�%
��(�%-� ���2��
�
��:
�
�%
��(�%-�%�����& ���2�)������&�2���
1�
�%�����%
��(�%-�%&$�

�$��u9�!$�&�-�������&�0����1�0��0��"��
���
������&���%�&�
-�(%0$��&$%&�%
��(�%-��-�0%�
��%
"��0��8��>.�����(�%-���0$���-@$3�� B�)
����2���-�������&����
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�� ��0�2>�6�8&�)
���� �%�9��9�������
��$��"��� ��������	�
��
���&�
8����&�$� ������&�2�)
2������1# ��0

.�%
������&��$%����&��2���&� 9�0����19��"�������9����(�%-�3��������%�����&  

   3. 2�2��
���������� (Activate Prior Knowledge) ���2�2��
����������
�$%�2�)9�����0�%
�������-�$"�$������&� ��
���9��� =�%&$�
&�)
2�)9���%
-���>���� ������ 
������2�)
9��� =�0��-����2���&��-�$ �8()%3�$�-�������&����� b@-���������&���� ��>� d�����:�&2�)�3 0��-���!#�
��9�����+
(% ���2�0%��$%��2���&� (Pre-test) B�)
� =���� ������
�������%
������&� �8()%
2�2����(�%-�����2�)�
&���	��$����"��� "���8()%����&�
���8��%�����������(�%-��-�$ 
�%�9��9�� =�������9���
������8(��;��"��� �2���&���
��()%
%�9�!���9�����2�0%��$%�
�2���&���� =����_.9�������
���0����1�%
������&� �8()%9���2���&��-��%�0�%
�$%�����

���0����12�)"2�9��
�%
������&�"�$��
�  
    4. ����0�%��(�%-��-�$ (Present New Information) -���0��
�@���������0�%
��(�%-��%
!#���9�����+
(% ���������0�%6�82�)���)&���%
�����(�%-�  ���%����
��%>���&0���u 

$�& "�$3���9
��� ����!�6�8 ���%� 9�2���-�������&������9��(�%-�
$�&���� "����
���

2���
���9��3������$�����!�
��%>���&�8�&
%&$�
���&�  
    5. !��"��"��2�
������&���� (Guide Learning) ���-������"���
()%�3����
���&���� (Condition of Learning) ������&�9�9����(�%-�3���� -�������9����������0�%��(�%-�2�)��
"��0��8��>.��� ��0�����.����-�(%
�����������%
������&� ��
2t	`���$��3���$� ������&����2�)
���9$�
!�� (Meaningfull Learning) ���� 2�
���&�2�)9���������3���+
(%���2�)������&����
���-."��
��
�������(�%-��-�$�
��8(��;���%

������"�� ��0�����.���� ����������� =�%

.
������
�-�$  
    6. ����#������%�0�%
�2���&� (Elicit Response) ������&����9���
 ��0�2>�6�8�����%&�8�&
���������)&���%
:�&��
��������"�������%��%
��� ���������%��� 
!#���9����3���-� ������&�3����:%��0�$��
�� �$����9������0$��2�)���)&������(�%-� "���$���%�

��1�� 9�0$
���-���
���9������$�������&�2�)�!���>�%$��-�(%
���%���%
���9�����%()��8�&
%&$�
���&� 
:�&!#���9���� ����%3��� ��&���$�:0�2���� ���.%()�u �!$� ����2���. 6�8&���. 03��. �2 �0�&
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